Oth CBSE Science

07. Motion

_ecture 1




1. Sit down on the Study Table for all the Classes at least 30 Minutes before the commencement of the
Session and do SELF-STUDY.

"No amount of motivation will help someone who lacks discipline."

2. Don't write anything while the Lecture is being delivered.
3. Write the Class Notes of the previous Lecture before attending the next Lecture.

4.

Click. on this , 8o thak cmugs: am Visiple .

Satish Pandit

5. Get all your DOUBTS clarified even if it is very silly.

“The man who asks a question 1s a fool for a minute, the man who does not ask is a fool for life.”
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1.

An athlete completes one round of a circular track of
diameter 200 m in 40 s. What will be the dista ered
and the displacement at the end of 2 minutes 20 s? -
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